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From the previous narratives we can identify three different entities. They are: a project entity, an engineer entity and an assistant entity.  


Projects are also known as database, for this reason the entity project has database as its synonym.  The attributes of this entity are: the project number or code, the name of the project, the fee and its duration.  The code number is the primary key since it uniquely distinguishes one project from another.  Notice that there is a synonym for the entity but not for the attribute code even though this attribute is known as project number.


The engineer entity has three attributes.  They are: name, address and phone number.  The primary key is a composite key made up of name and address.  In this case, the developer made the assumption that there may be two or more persons sharing the same name but not living at the same address or that there may be more than one persons living at the same address but having the same name. This information is not shown in the description of the database. It is an assumption made by the developer since single attributes will not distinguish one instance for another.  As an aside comment, we can say that the developers could have chosen name and telephone to make up the composite key.  Similar argument to the one above can be made with regard to these two attributes.


The assistant entity also has three attributes. They are: name, address and phone. In this case, the primary key is a composite key made up of name and phone.

